A ACTUATECH S.p.A.
. San Lorenzo X 705
u ® EKF Villa Carcina(BS) ,

FiE +390308908142 - {£R +390308908143
ACTUATECH

A0S M lRGS B BT
25

T~ KREPITER
INZE ATOSIRENPI T 25

BUTRAREHSE : 360 Nm~1920 Nm

TR

\_ Be environmentally friendly..please don't print this document unless you really need to. 1/12


https://www.cn.actuatech.com/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/
https://www.cn.actuatech.com/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/a105%E7%A2%B3%E9%92%A2%E6%A1%86%E6%9E%B6%E7%9A%84%E6%89%A7%E8%A1%8C%E5%99%A8/
https://www.cn.actuatech.com/ImmaginiProdotti/Pallinato-GS.png

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - %j{%{qug\/ﬁi\la Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '

1. BRI B A B
MARTEZR SRR Z MR ER T ;
RMEKIRER | Rl R mE SR A EE.

24718, BEMENHNREERII50 HRC
ERRRAT AR RN

3HTEANTER Z [RIABN R
BN RS

4RENERIT B (B ERNTE R BN , BEME S ANEHE3)).

TREERNE BN RIR BRI SEN , IR D BRI

FTIFMKAN A & B3R SR

TRk AAIITE AR, RETFEERER

ABRTFERMEENIITE , HEEE/N-30% Kg/Nm) , 2215 ERHRHIR AT R RAA

HRTRRAMEAAIITES  HRESEBEMR, (W 1 -40% 24X cm3/Nm ; 813§ 1 -20% TS, cm3/Nm) , BB BRI RERTM TERS , SREEMER/IR
~FEYE..

S.TBENELRE
BETEIRMRERREE | AR KR .

6.Stainless steel shaft
Higher corrosion resistance

B GD15HY S 28 NAMURB R i3
TR I INEE

TEACTUATECHE B RN TTRETBLEF~IRAE
SIMLTENN B RIEER

ATEXGAIE
A RFETHRIESRIMERN

REIESILIERAIAE
EERETRE%R

\__ Be environmentally friendly..please don't print this document unless you really need to. 2/12



)
& .
ACTUATECH

it

BARSE

H5EA-F360NmM~960NM 2 8]

YEZHEOMRAE - ENISO 5211 ; F10 - F12- F14 - F16
BHEEN 15714-347 A

MRS £ 92°(-1°, +91°)

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

RS | RENKRSEENRRTEENZES) , SHEENTX, BEABHAMARLEE | AES N CS KIPITHME KT IRE

SPE NN TER R, SSHLBBhKRMA.
FAERICSHITR MRS A S 6BarftiEaiisE (Nm) THzhHYIEl (6=5.6Bar)
HaMRAEAPRITES

ATEXINIERI ST EEE (2014/34/UE)

ETAM
B : -20°C~+80°C
BEESN : 5.6bar ; mEfElES : 8.4bar

KR - TRIEREEDBNERTR. FRIEBN , EEASNBRM EAEREIhE.

\__ Be environmentally friendly..please don't print this document unless you really need to. 3/12



A ACTUATECH S.p.A.
. San Lorenzo X 705
V ® EKF Villa Carcina(BS) ,

FEVE +390308908142 - f#H +390308908143
ACTUATECH

it

A
z
OB HI1
f g H
B e Ree
h h I punti di sollevamento sono progettati per il solo attuatore
H o Per il sollevamento utilizzare due golfariM10
For the lifting use n° 2 eyebolts M10
ENISO 5211 | lc D Lifting point are designed for actuator only
71
Al
4
T PR
~ L
0{ »

@H

\ ’ ‘ ’ | S
o ——— ¢ et - . ]
1/4" GAS

80
i ’ M5 B
/ 44,0*/
€ 7,,43,,0&7, i | S, - Interfaccia per accessori
e N o EN 15714-3 (VDI/VDE 3845)
a
| ] Accessories interface
8 ‘ P J‘- P \\H\ EN 15714-3 (VDI/VDE 3845)
Ih11

\_ Be environmentally friendly..please don't print this document unless you really need to. 4/12


https://www.cn.actuatech.com/ImmaginiProdotti/pag523.png

|

Ca

ACTUATECH

EHEMF
R~

A
Al (2,8 Bar)
B
C x depth
D x depth
DE
oF

71 (2,8 Bar)
Ch
Ch1 (2,8 Bar)
EE(Kg)

F (2,8 Bar) (Kg)
K& (dm3/cycle) (I/cycle)

KGGSS223
GS0360
F10/F12
5655
4835
27
M10x11,5
M12x11,5
102
125
19,5
156
22
138,5
15
178
78,5
99,5
2915
e
31,8
30
148
150
155
525,8
435,8
22
24
45,5
37,5

BASHE
KGGSS224
GS0480
F12/F16
598
506
36
M12x20
M20x20
125
165
19,5
169
24
156,3
150
198
93,5
104,5
385
135
365
30
168
150
168
565
473
22
24
60
5]
27

KGGSS225

GS0720
F12
736,8
630,8
36
M12x18

125
19,5
188
27
179,5
130
216
1015
14,5
385
160
41
30
186
150
187
685
559,4
24
30
82,5
77
43

Be environmentally friendly..please don't print this document unless you really need to.

KGGSS225

GS0720
Fl4
736,8
630,8
36
M16x18

140
19,5
188
27
1795
130
216
101,5
14,5
385
160
4
30
186
150
187
685
559,4
24
30
825
77
43

ACTUATECH S.p.A.

KGGSS226
GS0960
F12/F16

769,6
645
46

M12x23
M20x23

125
165
185
211
32
192
150
2377
14,7
123
485
160
46
30
207,7
150
209
7184
5938
24
30
2
96
56

San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

5/12



n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
V ® e %jﬁ{']%\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH 1

ikt

HHESEPITARNIUE A A /EFAT105

@
.._'.y”

_ Beenvironmentally friendly..please don't print this document unless you really need to. 6/12


https://www.cn.actuatech.com/ImmaginiProdotti/1187.jpg

2
& .
ACTUATECH

& B
1 [aic]
2 TEE
3 HE
4 ek
5 +FER
6 BE/XAE
7 xR
8 XAEBE
9 TERIBRIBRISMT
10 TR IBBRIERINAT
1 WE
12 it
13 HHER
14* SR
15* JEIEOTHE
16 i O
17 HhSTEFR
18 A
19 SeegeriiitE
20 TS A A
21 O
22+ HEOWE
23 12e
24 VAR
25 AT ORE
26 BUEIREE
27 BEi%E=
28 Y
29* HEORE
30 [ANE TS
3 5
32 SHFEAR
33 TG R

P TSDUERAE 2EFA A105

BE
1
2
2

—“ N NN N

—_

NN N 0N

NN NN NN

* EHRRNANT

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

R
W
HEE
W
il
E&W
Z YRR g
YRR AR
ZYUERER AR
EEW
aet
BEW
A&t
RaEM
P.T.F.E. carbo-graphite filled
Nitrilic rubber
FKM
Z YRR g
BN
il
P.T.F.E. carbo-graphite filled
FKM
Nitrilic rubber
il
BN
Nitrilic rubber
B
i
BN
Nitrilic rubber
W
&t
wBEsE
il

\L Be environmentally friendly..please don't print this document unless you really need to. 7/12



L N

e .

ACTUATECH
A%

ACTUATECH S.p.A.
San Lorenzo X 705
EKF Villa Carcina(BS) ,
B3E +390308908142 - {EH +390308908143

GSRFPITAHRIER

SCHEMA DI FUNZIONAMENTO

Senza pressione di alimentazione, nella versione semplice effetto, I'at-
tuatore torna automaticamente in posizione di riposo compiendo una
rotazione oraria e la posizione finale & quella rappresentata nel disegno.
Sul foro 2 é consigliato montare un filtrino onde evitare che polvere o
particelle solide possano entrare nella camera del cilindro senza tuttavia
impedire il passaggio dell'aria.

WORKING PLANE

Without air supply, the spring return actuator returns to its resting position, rota-
ting in a clockwise direction. The drawing shows its final position.

We assembling a small filter on the air connection 2 to prevent dust and parti-
cles into the cylinder chamber without, however, preventing the passage of air.

SCHEMA DI FUNZIONAMENTO

Immettendo aria nel foro 4 di alimentazione, i pistoni si muovono
verso l'esterno comprimendo le mollg, si ha una rotazione antioraria e
la posizione finale € quella rappresentata nel disegno.

WORKING PLANE

Supplying air through the air connection 4, the pistons move outwards
pressing the spring. An anticlockwise rotation takes place and the final
position is shown above.

ATTUATORE REGOLABILE-ISTRUZIONI PER L' UTILIZZO ACTUATOR WITH STROKE ADJUSTMENT-INSTRUCTIONS

TAPFO
CAP

i \| CHIAVE C
\KEYC

A) Verificare che le molle siano in posizione di riposo osservando la chiave dell'albe-
ro (part. n°1) come da disegno e controllando che nel foro “D” non ci sia pressione.
B) Togliere i controdadi (part. n°3) agendo sulla chiave C.

C) Con un cacciavite avvitare le viti (part. n°2) in senso orario ed effettuare la limita-
zione di corsa desiderata.

N.B. La corsa puo essere limitata per un massimo di 10° da 80° a 90°

D) Immettere aria nel foro “D" e verificare che entrambe le viti (part. n°2) siano a bat-
tuta contro i pistoni (part. n°5).

E) Bloccare i controdadi (part. n°3) muniti di O-ring (part. n°4) per |a tenuta tra con-
trodado, tappo e vite.

N.B. queste spiegazioni sono indicative, per le istruzioni operative, vedere il manuale.

R) The springs must be at rest position, the shaft (part. 1) must be as shown in the dra-
wing. Air connection D must not be supplied with air.

B) Remove the counter-nuts (part. 3), acting on C key.

C) By means of a screwdriver turn screws (part. 2) in a clockwise direction until you
obtain the requested end-stroke regulation.

Note: maximum adjusting stroke 10°, ranging from 80° to 90°,

D) Supply connection D with air pressure and check that both adjusting screws (part. 2)
stop the pistons (part. 5).

E) Screw the counter-nuts (part. 3) and their O-ring (part. 4) to keep nut and cap tight.

N.B. these explanations are indicative, for operating instructions, see the manual.

Be environmentally friendly..please don't print this document unless you really need to.

8/12


https://www.cn.actuatech.com/ImmaginiProdotti/S2kr2R_FunzionamentoGS.png

n ACTUATECH S.p.A.
. San Lorenzo X 705
V ® EKF Villa Carcina(BS) ,

FiE +390308908142 - {£R +390308908143
ACTUATECH

[

R&ERUSNESR

FhRBERASS

NAMUR FE7E

\_ Be environmentally friendly..please don't print this document unless you really need to. 9/12


https://www.cn.actuatech.com/ImmaginiProdotti/S4pA6Z_138.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/eGJhhd_1382.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/bUy1rq_1383.jpg

A ACTUATECH S.p.A.
. San Lorenzo X 705
V ® EKF Villa Carcina(BS) ,

FEVE +390308908142 - f#H +390308908143
ACTUATECH

FEARR]

HSERE (RERSKE)

\_ Be environmentally friendly..please don't print this document unless you really need to. 10/12


https://www.cn.actuatech.com/ImmaginiProdotti/ZJCPCD_1384.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/gh3LNQ_1385.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/tB5UY3_1386.jpg

A ACTUATECH S.p.A.
. San Lorenzo X 705
u ® EKF Villa Carcina(BS) ,

FiE +390308908142 - {£R +390308908143
ACTUATECH

HR AR

PR PRAZF

ENABRALZR

HURBABR1228112GD ExdIIC

BFVEEEFACTUATECHMA =B &,

\_ Be environmentally friendly..please don't print this document unless you really need to. n/12


https://www.cn.actuatech.com/ImmaginiProdotti/5R5jah_1387.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/8OTQlu_1388.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/xbiuxH_1389.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/gPqkJU_13810.jpg

n ACTUATECH S.p.A.
. San Lorenzo X 705

V ® EAF Villa Carcina(BS)
FRIE +390308908142 - £ H +390308908143
ACTUATECH
B
AR+

AKNOWLEDGEMENT OF RECEIPT - EC - ATEX
SIL CERTIFICATE GS

Bx

ATTUATORI ACCIAIO CARBONIO

\_ Be environmentally friendly..please don't print this document unless you really need to. 12/12


https://www.cn.actuatech.com/FilesProdotti/AcknowledgementOfReceipt-EC-ATEX.pdf
https://www.cn.actuatech.com/FilesProdotti/35-Certificate-202029401-ACTUATECH-AttuatoriGSGD.pdf
https://www.cn.actuatech.com/FilesProdotti/AGCS0021-ACTUATECH-CARBONSTEELACTUATORS.pdf

	证明书
	目录

